1. In a gear train, the driver gear has ______
teeth, while the driven (follower) gear has 10
teeth. For every 16 revolutions of the driver
gear, the driven (follower) gear rotates 40
revolutions.

& i 9 #, T9ee (SeR) i & _____ aid ¢,
Sefe dufad (WiareR) iR & 10 Tid 81 IO
EER) MR & Ud® 16 IR & faw duifad
(PTeTSR) fRR 40 e AT &l

(A) 15 (B) 8 (C) 32 (D) 25




2. Siemens is the unit of
A) electrical conductivity
B) permeability

electric conductivity
watt / steradian




3. A body of mass 60 kg weighs 222 N on Mars. Find the
acceleration due to gravity (in m/s2) on Mars.

60kq GoOH & T fUS &T HIeT I8 W UR 222 N 8] e W
Toedott=d @Rl (m/s? #) AT HifSa

(A) 13.32 (B) 3.7

(C) 4.9 (D) 19.8




4, —-——-- is the distance between the bottom of
the pitch circle and the tooth of a gear.

(A) Didendum (B) bored

(C) Addendum (D) the hub

----- , feft fre & e odar ok et (@0) & P
R TR N

(A) f3ssa (B) R

(C) 3rdsH (D) &&




5. -200° Celsius =

-200° AfeaaHq

(A) -328°
(B) -73°
(C) 73°
(D) -392°

Fahrenheit




6. is a pen-like pointing and drawing
instrument. It is used on touch screen.

(A) Stylus (B) index

(C) Cursor (D) flag

________ U U9 St srefa arar uiefdr ud gEm
UYSRUT 2| THDT IYUNT oI ThiH W a1 ST 21

(A) TBeH (B) gsa™

(C) v (D) AT




7. Which of the following substances has the
highest density?

(A) Iron (B) Sleep

(C) Mercury (D) Copper

fRafafad & 9 fog gerd &1 ava gaffas giar g ?
(A) wirgT (B) T

(C) Urr (D) arar




8. The kinetic energy possessed by a car of mass
500Kkg is 64Kj. Find its speed (in m/s).

500kq GEIHT TTelt U HR § Hisg Tifdst Faif 64K) R
gd! I1e (m/s #) ATd HIfAT |

(A) 48 (B) 64

(C) 16 (D) 32




9. Two resistors of RQ and 200 are connected in
parallel to obtain an effective resistance of 152.

150 T WHTd! Ufare ured g+ & faw RO 31k 200 &
<l ufeRYeft &Y IHHTR HH | ShsT 1T 2

(A) 30 (B) 60

(C) 50 (D) 40




10. Which of the following for the potential difference
'V' of a metal wire of resistivity ' p ', length 'L" and
area of cross-section 'A’, through which charge 'Q’
flows in 't'second- Is the formula correct?

‘P’ ufaduddr,'L' wars 3R A’ ST $Ic & §ABA dlel
4 & U& dr, forgd ¥ "A$s # 'Q'3aer yared &ar 8, &
faiR 'V & fae fefafRa d d s-ar gz a8t & 2
(A)VQt=ApL (B) Vp Q = AtL

(C) VLt = Agp (D) VAt = QpL




11. The ratio of the shorter side of an A4 sheet to
the longer side of an A3 sheet is

A4 ofie &t 8IS gar 3R A3 2fie &t dar ar &T
ST -l &l

(A)1:4

(B)1:2

(C)1: 42

(D)1:1




12. The specific heat capacity of lead is 125 Jkg ™
K. If a 2509 piece of lead absorbs 5kJ of heat
and its temperature rises by 10°C, find its heat
capacity.

oIz Fi fafdre Fwar gifvar 125 Jkg 'K g1 afe A &
2509 & TP ¢hs gRT 5k) FT TN fhw s= &
91¢ IHST I 10°C dgdT 8, d SHB ST emfdr
AT HIAT |

(A) 250Jkg * K™ (B) 325Jkg K™

(C) 500JK (D) 200JK ™




13. The apparent mass of a piece of metal when
completely immersed in water is found to be 60
gm. If the relative density of this piece of metal
is 2.5, then find its actual mass (in gm).

gt 7 g @ | 6T 9N W US 4T & ¢hs Bl
ST goHT™ 60gm U €T 8l Ife 37 a1 & ghs
& MAfAF T 2.5 B, A TSI IRAAD godd = (gm
H) 19 HIfST |

(A) 400 (B) 300

(C) 150 (D) 40




~

14. The specific latent heat of fusion of lead is 23 Jg™.
If a piece of lead on freezing at its freezing point,
327°C, releases 2116) of heat, find the mass of the
piece.

s & Yoga & fafdre e Fwr 23 Jgt 81 Afe @S @ v
oPHsT TUSP 3uid, 327°C, W SR W 2116) FWT Teh T ¢,
AT 3 ¢hg DT goud™ ATd HIAY |

(A) 600 (B) 92

(C) 62 (D) 460




15. Find the mass (in gm) of a gold coin of radius
2 cm and thickness 0.05 cm. (The density of gold
is 19.3gm/cm3)

2 cm fASTT 3R 0.05 cm HIeTE 9@ Td 91 & [{ah
& gogaE (gm #H) AT HfSd | (@9 &1 w\a
19.3gm/cm? §)

(A) 6.1 (B) 0.03

(C) 0.06 (D) 12.1




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15

